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1 The range of the relation R = |(x, x?) : x is a prime number less than 15} is
(a) 12, 3,5, T} (b) 12, 3, 5, 11}
(¢) 12, 8,5, 7, 11, 13 (d) 14, 9, 25, 49, 121, 169)

2 If the ordered pairs (a + 2, 4) = (5, 2a + b) are equal, then the value of @ and b are
(a) (2, -2) (h) {3, -2} (c) ¢ (d) 12, 3}

3 If there are 1024 relations from set A={ 1, 2, 3, 4, 5} to a set B, then the number of elements of B is:
(a) 3 (b) 2 (c)4 (d)8

4 For two sets A and B, given n(A x B) = 6 and three of the elements of A x B are (2, 5),
(4, 6), (8, 6). Then the remaining elements are

(a) (2, 6), (4, 5), (8, 5) (b) (2, 4), (4, 8), (5, 6)
(c) (2, 6), (4, 5), (4, 8) (d) (2, 4), (4, 5), (6, 8)
lxl .
— ifxz0
5 The range of the Signum function defined by f(x) = 7 x is
0 ifx=0
(a) {1, 1} (h) (-1, 1) (e) [-1, 1] (d) -1, 0, 1}

6 If A and B are two sets having m and n elements, respectively and having p elements
common. The number of possible relations which can be defined from A to B is

[ﬂ:] 2:’?.!- + I [b} 2:’?! thn=—-p EE:] zﬁm {d’ 2”?.’! e

7| The domain of flx)= 25 —x2 is
(@ R () (=5, 5) () [-5, 5] (d) (=es, 5)

8 If niA ~ B) = 5, then n((A x B) ~ (B x A)) is equal to.

(a) b (b) 20 (e) 25 () 16
? Th f the functi (x) I
e range of the function f(x) = 1+ 22 18
11 11 11 1
(a) [—E,E} (h) [2:-4} ic) [ 2:4] (d} [[]',E]
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The range of the function f (x) = x — [x] where [x] is the greatest integer less than or
equal to x is

(a) [0, 1) (b) [0, 1] (e) (0, 1) (d) (0, 1]
11 | The set B is the range of a constant funetion. Then, n(B) equals
(@) 0 (b) 1 (c) 2 (d) 3
12 | Find the domain and range of the relation R, where R=1{(x + 1, x + 5)},x € 10, 1, 2, 3, 4, 5}
is
@)D=10,1,2,3,4,5}, R=10,1, 2, 3, 4, 5}
b)D=10,1,2,3,4,5,, R=15,6,7, 8,9, 10}
(c) D=1{1,2,3,4,5,6, R=10,1, 2, 3, 4, 5}
(d)D=1{1,2,3,4,5,6},R=156,7,8,9, 10]
13 | A and B are two sets having 4 and 6 elements respectively and having 3 elements in
common. The number of relations that can be defined from A to B
(@) 2% (b) 2% -1 (c) 24— 3 (d) 25 (e) 2%4
14 | There are 4096 relations from a set A to a set B. If the set A has 6 elements, then the
number of elements in the set B is:
(a) 32 (b) 2 (c) 128 (d) 1024
15 The range of the funetion fix) = 3x +5 is:
dx - T
1 3
(a) R (b) R - (T} (c) R - {E} (d) R - {Z}

The answer will be discussed during the math lesson.
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